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2018

ECONOMICS
( Major )
Paper : 5.6

( Development Policy and the Indian Economy )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
T fill eprRR B s
(a) What was the iiteracy rate of India
according to 2011 Census?
3033 TR GEIRPRE Yo SReT TSR 2
fore sfe 2
(b) Define per capita income.
S e 5E f |
(c) What is density of population?
TP T 3 2
(d) What is relative poverty?
e wiiwel f$ 9
(e) What is meant by Green Revolution?
ciow Red s i =2
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(.2)

(/ Mention one cause of industrial
unemployment in India.

S I fTER @b S Tead 40|
(g9 What is microenterprise?
=w Seal 2
2. Answer the following questions : 2x4=8
oeTe fal eRpTyRd Ted o4 :

(a) What is birthrate? What was the
birthrate of India according to 2011

Census?
T T F7 205 9 EISPEE Ao SRed
T 3{ e iR 2

(b) Mention two causes of disguised
unemployment in India.

SRST QA fAERE 101 TR Sead 41 |

(c) Mention two objectives of Land Reforms
in India.
ST S I 101 S S 40|
(d) Write down two problems faced by large
industries of India.
SRS 938 ToTsl A 2RI o1 ST T |
3. Answer any three of the following questions :
5x3=15
were i erpred f e fefibr T fora

(a) Explain briefly five basic features of
Indian economy.

S5 S IR R 2 ) 1 S e o s R
T 41 |
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(3)

(b) Suggest five measures for reducing
rural unemployment in India.
SRed AR PRl ZPRATE A A0l SO
HIFCEET |

(c) Explain the role of agriculture in India’s
economic development.

T AT T R $iR T

(d) Explain the measures taken by
Government to ensure food security in
India.

SRS A T Fve Fieate I 2=

LR T 4 |

(e) What were the main objectives of
Industrial Policy of 1991? Explain.

353 & P Aee e Srw TR [
=fRE 7 T A4 |

4. Answer any three of the following questions :
10x3=30

weoTe Tl eppTRs R e bR Tee fos

(a) Discuss the trend of growth of tertiary
sector of India during the plan period.
What are the main causes of increasing
importance of the tertiary sector? 6+4=10
FARFFAR FEICRAS SHed o 9e9 =l G
A 1 | G 499 T« BFeI AN
FETHZ IERC
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(4)

(b) Discuss the causes of slow growth of per
capita income of India during plan
period. 10
ARFFAR FECRA® SRS FR SER T2
I FRPTR ST 341 |

(c) Discuss the causes of inequality of
income in India. Suggest some
measures to improve the situation. 6+4=10
S EF SPHCR FETHR SICEnAT F491
“{fRFEFSOR THfeT Sedf PR 9" SoRceH |

(d) What are the major barriers to
agricultural growth in India? Discuss. 10
SReY $RAT A A PR 7 6 2 Seem
411

(e) Discuss the role of industrialization in
the economic development of a
developing economy like India. 10

TSR] WA TrgAel SRS ¥ wAfes
TAgS ST P SCAH 4 |

(/) Give a critical appraisal of the industrial
development strategy of Indla in the

pre-reform period. 10
ARF-TATPR I SRe] Qe  Saud
(TR IF FHACATGAREE JaIRe SHI5RCGHT |

* 4 &
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